C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
1) A pallet of toggle bolts weighs 572 kilograms. If awarehouse has 386 pallets, what is their
total weight? 1
2.
2) Every hour asoup company produces 975 liters of soup. How much soup would the
company have made after 989 hours? 3.
4.
3) A pizzachain uses 139 grams of cheese on their pizzas. If they sold 377 pizzas, how many
grams would they have used? 5.
6.
4) A racewas 292 meters. If 590 people ran in the marathon how many meters would they
have run total? 7.
8.
5) A vat of orange juice contains the juice from 606 oranges. If acompany has 788 vats, how
many oranges would they useto fill them all? 9.
10.

6) Debby was building a LEGO tower. She built it with 372 stories and with 241 blocks on
each story. How many LEGO blocks would she have used?

7) A new library received 952 boxes of books with 807 books in each box. How many books
did the library receive total ?

8) Sam was collecting cans for recycling. In 5 months he had collected 485 bags with 825
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 584 pieces of luggage. If aship had 773
compartments, how many pieces of luggage can it hold?

10) A golf course driving range goes through 905 golf balls a day. How many golf balls would
they go through in 910 days?
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ﬂh Finding Product (3 x 3) Name: Answer Key

Solve each problem. Answers
1) A pallet of toggle bolts weighs 572 kilograms. If awarehouse has 386 pallets, what is their
total weight? 1. 220,792
2. 964,275
2) Every hour asoup company produces 975 liters of soup. How much soup would the
company have made after 989 hours? 3. 52,403
4. 172,280
3) A pizzachain uses 139 grams of cheese on their pizzas. If they sold 377 pizzas, how many
grams would they have used? 5. 477,528
6. 89,652
4) A racewas 292 meters. If 590 people ran in the marathon how many meters would they
have run total? 7. 768,264
g. 400,125
5) A vat of orange juice contains the juice from 606 oranges. If acompany has 788 vats, how
many oranges would they useto fill them all? 9. 451,432
10. 823,550

6) Debby was building a LEGO tower. She built it with 372 stories and with 241 blocks on
each story. How many LEGO blocks would she have used?

7) A new library received 952 boxes of books with 807 books in each box. How many books
did the library receive total ?

8) Sam was collecting cans for recycling. In 5 months he had collected 485 bags with 825
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 584 pieces of luggage. If aship had 773
compartments, how many pieces of luggage can it hold?

10) A golf course driving range goes through 905 golf balls a day. How many golf balls would
they go through in 910 days?
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C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
768,264 451,432 220,792 172,280 89,652
477,528 52,403 823,550 400,125 964,275 1.
1) A pallet of toggle bolts weighs 572 kilograms. If awarehouse has 386 pallets, what is their 5
total weight? '
3.
2) Every hour asoup company produces 975 liters of soup. How much soup would the
company have made after 989 hours? 4.
5.
3) A pizzachain uses 139 grams of cheese on their pizzas. If they sold 377 pizzas, how many
grams would they have used? 6.
7.
4) A race was 292 meters. If 590 people ran in the marathon how many meters would they
have run total? 8.
9.
5) A vat of orange juice contains the juice from 606 oranges. If acompany has 788 vats, how
many oranges would they use to fill them all? 10

6) Debby was building a LEGO tower. She built it with 372 stories and with 241 blocks on
each story. How many LEGO blocks would she have used?

7) A new library received 952 boxes of books with 807 books in each box. How many books
did the library receive total ?

8) Sam was collecting cans for recycling. In 5 months he had collected 485 bags with 825
cansinside each bag. How many cans did he have total ?

9) A cruise ship compartment can hold 584 pieces of luggage. If a ship had 773
compartments, how many pieces of luggage can it hold?

10) A golf course driving range goes through 905 golf balls aday. How many golf balls would
they go through in 910 days?
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